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LO: To subtract numbers with more than 4 digits


Guided Practice
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	Bronze Challenge – Fluency
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	Silver Challenge – Reasoning
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	Gold Challenge – Problem Solving
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Represent each problem as a bar model, and solve them.

A plane is flying at 29,456 feet.
During the flight the plane descends 8896 feet.
What height is the plane now flyingat?

Tommy earns £37,506 pounds ayear.
Dora earns £22,819 ayear.
How much more money does Tommy earn than Dora?

There are 83,065 fans at a football match.
45,927 fans are male. How many fans are female?
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- 13934 -23120 -71401
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- 18341 -32672 -13623
785913 & 29314 % 25521

-33575 -13023 -12014
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Complete the calculations.
a) 9]
8 4 3 4
- 21 4
b) d)
£ 8 2 0
- £ 6 0
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A family has £22,658 in the bank.
They spend £3,600 on a holiday.

How much money do they have left?
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Complete the models.

a) b)
12,365
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Mr Hall has written these subtractions on the board.

45541 — 25,865 68,945 — 34,758
Rosie’s workings Whitney’s workings

2 5865 6 89 45

- 455 41 - 347538

2 03 2 4 34213

Explain the mistakes that Rosie and Whitney have made.
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Complete the subtractions.
a) 10,004 — 9,995 b) 10,000 - 6,727 ¢ 15,923 - 9,998
How did you work this out?

Is there another method you could use?




